Identities for Eigenvalues of the Schrödinger Equation with Energy-Dependent Potential

Chuan Fu Yang

Department of Applied Mathematics, Nanjing University of Science and Technology, Nanjing 210094, Jiangsu, People's Republic of China

Reprint requests to C. F. Y.; E-mail: chuanfuyang@tom.com

Z. Naturforsch. **66a**, 699–704 (2011) / DOI: 10.5560/ZNA.2011-0023 Received March 31, 2011 / revised June 4, 2011

The present paper deals with eigenvalue problems for the Schrödinger equation with energydependent potential and some separated boundary conditions. Using the method of contour integration, we obtain some new regularized traces for this class of Schrödinger operators.

Key words: Schrödinger Equation; Regularized Trace Formula. *Mathematics Subject Classification 1991:* 34B24, 34L20, 35K57, 45C05

1. Introduction

The problem of describing interactions between colliding particles is of fundamental interest in physics. One is interested in collisions of two spinless particles, and it is supposed that the s-wave scattering matrix and the s-wave binding energies are exactly known from collision experiments. With a radial static potential V(x) the s-wave Schrödinger equation is written as

$$y''(x) + [E - V(E, x)]y(x) = 0,$$

where $V(E, x) = 2\sqrt{E}P(x) + Q(x)$.

In particular, with an additional condition $Q(x) = -P^2(x)$ the above equation reduces to the Klein–Gordon s-wave equation for a particle of zero mass and energy \sqrt{E} [1].

In this paper, we consider the boundary-value problems generated by the differential equation

$$l_{\lambda}u(x) \stackrel{\text{def}}{=} u''(x) + [\lambda^2 - 2\lambda p(x) - q(x)]u(x) = 0, \quad (1)$$

 $x \in (0, \pi),$

where λ is a spectral parameter and the functions $q(x) \in W_2^1[0,\pi]$ and $p(x) \in W_2^2[0,\pi]$. Equation (1) is respectively endowed with boundary conditions

(BC1)
$$\begin{array}{l} u(0) = 0, \\ u(\pi) = 0; \end{array}$$
 (2)

(BC2)
$$\begin{array}{l} u(0) = 0, \\ u'(\pi) + Hu(\pi) = 0; \end{array}$$
 (3)

and

(BC3)
$$\begin{array}{l} u'(0) - hu(0) = 0, \\ u(\pi) = 0. \end{array}$$
 (4)

The trace identity of a differential operator deeply reveals the spectral structure of the differential operator and has important applications in the numerical calculation of eigenvalues. Here we refer to the references [2-11], with which the author became acquainted while doing research on the present paper. In [12], we obtained regularized trace formula for (1) with the boundary condition

(BC4)
$$\begin{aligned} u'(0) - hu(0) &= 0, \\ u'(\pi) + Hu(\pi) &= 0, \ h, \ H \in \mathbb{R}. \end{aligned}$$
 (5)

However, the boundary condition in (5) does not include boundary conditions (2), (3), and (4). In this paper, we try to obtain some new regularized traces for this class of Schrödinger equation with boundary conditions (2), (3), and (4), respectively.

2. Results

Problem 1. Let λ_n , $n \in \mathbb{Z} \setminus \{0\}$, be the eigenvalues of (1) and (2). Then the sequence $\{\lambda_n : n = \pm 1, \pm 2, ...\}$ satisfies the following asymptotic form:

$$\lambda_n = n + c_0 + \frac{b_1}{n\pi} + \frac{\beta}{4n^2\pi} + o\left(\frac{1}{n^2}\right), \qquad (6)$$

© 2011 Verlag der Zeitschrift für Naturforschung, Tübingen · http://znaturforsch.com

C. F. Yang · Identities for Eigenvalues of the Schrödinger Operators

where

$$c_{0} = \frac{1}{\pi} \int_{0}^{\pi} p(x) dx,$$

$$b_{1} = \frac{1}{2} \int_{0}^{\pi} [p^{2}(x) + q(x)] dx,$$

$$\beta = p'(0) - p'(\pi) + 2 \int_{0}^{\pi} [p(x) - c_{0}] [p^{2}(x) + q(x)] dx.$$
(7)

It is seen from (6) that the series

$$s_1 \stackrel{\text{def}}{=} \sum_{n=1}^{\infty} \left[(\lambda_n - c_0)^2 + (\lambda_{-n} - c_0)^2 - 2n^2 - \frac{4b_1}{\pi} \right]$$
(8)

is absolutely convergent.

Problem 2. Let ζ_n , $n \in \mathbb{Z}$, be the eigenvalues of (1) and (3). We can prove that the sequence $\{\zeta_n : n = 0, \pm 1, \pm 2, ...\}$ satisfies the following asymptotic expression:

$$\begin{aligned} \zeta_n &= n + \frac{1}{2} + c_0 + \frac{b_1 + H}{(n + \frac{1}{2})\pi} + \frac{\gamma}{4(n + \frac{1}{2})^2\pi} \\ &+ o\left(\frac{1}{n^2}\right), \end{aligned} \tag{9}$$

where

$$\begin{split} \gamma &= p'(0) + p'(\pi) + 2 \int_0^{\pi} [p(x) - c_0] [p^2(x) + q(x)] \, \mathrm{d}x \\ &+ H[p(\pi) - c_0] \, . \end{split}$$

It is seen from (9) that the series

$$s_{2} \stackrel{\text{def}}{=} \sum_{n=0}^{\infty} \left[(\zeta_{n} - c_{0})^{2} - \left(n + \frac{1}{2}\right)^{2} - \frac{2(b_{1} + H)}{\pi} \right]$$
(10)
$$+ \sum_{n=1}^{\infty} \left[(\zeta_{-n} - c_{0})^{2} - \left(n - \frac{1}{2}\right)^{2} - \frac{2(b_{1} + H)}{\pi} \right]$$

is absolutely convergent.

Problem 3. Let μ_n , $n \in \mathbb{Z}$, be the eigenvalues of (1) and (4). Then the sequence $\{\mu_n : n = 0, \pm 1, \pm 2, ...\}$ satisfies the following asymptotic form:

$$\lambda_n = n + \frac{1}{2} + c_0 + \frac{b_1 + h}{(n + \frac{1}{2})\pi} + \frac{\theta}{4(n + \frac{1}{2})^2\pi} + o\left(\frac{1}{n^2}\right),$$
(11)

where

$$\theta = -p'(0) - p'(\pi) + 2 \int_0^{\pi} [p(x) - c_0] [p^2(x) + q(x)] dx + h[p(0) - c_0].$$

It is seen from (11) that the series

$$s_{3} \stackrel{\text{def}}{=} \sum_{n=0}^{\infty} \left[(\mu_{n} - c_{0})^{2} - \left(n + \frac{1}{2}\right)^{2} - \frac{2(b_{1} + h)}{\pi} \right]$$

$$+ \sum_{n=1}^{\infty} \left[(\mu_{-n} - c_{0})^{2} - \left(n - \frac{1}{2}\right)^{2} - \frac{2(b_{1} + h)}{\pi} \right]$$
(12)

is absolutely convergent.

In this work, we shall derive the sums of the series in (8), (10), and (12) in an explicit form, which are so-called regularized traces.

Theorem 2.1. We have the trace formulae

$$s_{1} = \frac{2b_{1}}{\pi} - p^{2}(\pi) - p^{2}(0) + [p(\pi) + p(0)]c_{0}$$
(13)
$$-c_{0}^{2} - \frac{q(\pi) + q(0)}{2},$$
$$s_{2} = p^{2}(\pi) - p^{2}(0) + [p(0) - p(\pi)]c_{0}$$
(14)
$$+ \frac{q(\pi) - q(0)}{2} - H^{2},$$
(14)

and

$$s_{3} = p^{2}(0) - p^{2}(\pi) + [p(\pi) - p(0)]c_{0} + \frac{q(0) - q(\pi)}{2} - h^{2},$$
(15)

where b_1 and c_0 are defined by (7).

Remark 2.2. For a special case $p(x) \equiv 0$ in (1), the trace formula (13) implies

$$\sum_{n=1}^{\infty} \left[\lambda_n^2 - n^2 - \frac{1}{\pi} \int_0^{\pi} q(x) \, \mathrm{d}x \right] = -\frac{q(0) + q(\pi)}{4} + \frac{1}{2\pi} \int_0^{\pi} q(x) \, \mathrm{d}x.$$

Here λ_n^2 are eigenvalues of the well-known Sturm– Liouville problem with the Dirichlet boundary condition of (2). This result was previously obtained in [6].

3. Solutions to the Schrödinger Equation

In this section, we recall a refined estimate for a fundamental pair of solutions to the equation $l_{\lambda}u(x,\lambda) = 0$, which will be used in Section 3.

700

Lemma 3.1. [13] Let $\psi(x, \lambda)$ and $\varphi(x, \lambda)$ be the solutions to $l_{\lambda}u(x, \lambda) = 0$ with the initial conditions

$$(\psi'(0,\lambda),\psi(0,\lambda)) = (0,1) = (\varphi(0,\lambda),\varphi'(0,\lambda)),$$

then the following representations hold:

$$\begin{split} \varphi(x,\lambda) &= \frac{\sin[\lambda x - \alpha(x)]}{\lambda} - b_1(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda^2} \\ &+ a_1(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda^2} + b_2(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda^3} \\ &+ a_2(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda^3} + o\left(\frac{e^{\tau x}}{\lambda^3}\right), \\ \psi(x,\lambda) &= \cos[\lambda x - \alpha(x)] - c_1(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda} \\ &+ b_1(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda} + d_2(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda^2} \\ &+ d_1(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda^2} + o\left(\frac{e^{\tau x}}{\lambda^2}\right), \end{split}$$

where $\tau = |\operatorname{Im} \lambda|$, and

$$\begin{aligned} \alpha(x) &= \int_0^x p(t) \, \mathrm{d}t, \ b_1(x) = \frac{1}{2} \int_0^x [p^2(t) + q(t)] \, \mathrm{d}t, \\ a_1(x) &= \frac{1}{2} [p(x) + p(0)], \\ b_2(x) &= \frac{1}{4} [p'(x) - p'(0)] - \frac{1}{2} b_1(x) [p(x) \\ + p(0)] - \frac{1}{2} \int_0^x p(t) [p^2(t) + q(t)] \, \mathrm{d}t, \\ a_2(x) &= \frac{1}{8} [5p^2(x) + 5p^2(0) + 2p(0)p(x)] \\ + \frac{q(x) + q(0)}{4} - \frac{1}{2} b_1^2(x), \\ c_1(x) &= \frac{1}{2} [p(0) - p(x)], \\ d_2(x) &= \frac{1}{8} [5p^2(x) - 2p(0)p(x) - 3p^2(0) + 2q(x) \\ - 2q(0)] - \frac{1}{2} b_1^2(x), \\ d_1(x) &= -\frac{1}{4} [p'(x) + p'(0)] + \frac{1}{2} b_1(x) [p(x) - p(0)] \\ + \frac{1}{2} \int_0^x p(t) [p^2(t) + q(t)] \, \mathrm{d}t. \end{aligned}$$

It is easy to obtain asymptotic expressions of the functions $\psi'(x,\lambda)$ and $\varphi'(x,\lambda)$.

Corollary 3.2. [13] Let $\psi(x, \lambda)$ and $\varphi(x, \lambda)$ be the solutions to $l_{\lambda}u(x, \lambda) = 0$ with the initial conditions

$$(\psi'(0,\lambda),\psi(0,\lambda))=(0,1)=(\varphi(0,\lambda),\varphi'(0,\lambda))\,,$$

then the solutions have the following representations:

$$\begin{split} \varphi'(x,\lambda) &= \cos[\lambda x - \alpha(x)] + c_1(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda} \\ &+ b_1(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda} + c_2(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda^2} \\ &+ c_3(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda^2} + o\left(\frac{e^{\tau x}}{\lambda^2}\right), \\ \psi'(x,\lambda) &= -\lambda \sin[\lambda x - \alpha(x)] \\ &+ b_1(x) \cos[\lambda x - \alpha(x)] + a_1(x) \sin[\lambda x - \alpha(x)] \\ &+ b_1(x) \frac{\cos[\lambda x - \alpha(x)]}{\lambda} + e_2(x) \frac{\sin[\lambda x - \alpha(x)]}{\lambda} \\ &+ o\left(\frac{e^{\tau x}}{\lambda}\right), \end{split}$$

where

$$\begin{split} c_2(x) &= -\frac{1}{8} [3p^2(x) + 2p(0)p(x) - 5p^2(0) + 2q(x) \\ &- 2q(0)] - \frac{1}{2} b_1^2(x) \,, \\ c_3(x) &= \frac{1}{4} [p'(x) + p'(0)] - \frac{1}{2} b_1(x) [p(x) - p(0)] \\ &+ \frac{1}{2} \int_0^x p(t) [p^2(t) + q(t)] \, \mathrm{d}t \,, \\ e_1(x) &= \frac{1}{4} [p'(x) - p'(0)] - \frac{1}{2} b_1(x) [p(x) + p(0)] \\ &+ \frac{1}{2} \int_0^x p(t) [p^2(t) + q(t)] \, \mathrm{d}t \,, \\ e_2(x) &= \frac{1}{8} [3p^2(x) - 2p(0)p(x) + 3p^2(0) + 2q(x) \\ &+ 2q(0)] + \frac{1}{2} b_1^2(x) \,. \end{split}$$

4. Proof of Theorem 2.1

For convenience, we now set

$$a_1 = a_1(\pi), \ a_2 = a_2(\pi), \ b_1 = b_1(\pi), \ b_2 = b_2(\pi).$$

We only present the proof of the identity in (13). The proofs of identities (14) and (15) are similar to the proof of the identity (13), thus we omit them. First, we shall prove that (13) is true under the assumption $c_0 = 0$.



From Lemma 3.1 and Corollary 3.2, we see that the characteristic equation in (1) and (2) can be reduced to $\varphi(\lambda) = 0$, where

$$\varphi(\lambda) = \frac{\sin(\lambda\pi)}{\lambda} - b_1 \frac{\cos(\lambda\pi)}{\lambda^2} + a_1 \frac{\sin(\lambda\pi)}{\lambda^2} + b_2 \frac{\cos(\lambda\pi)}{\lambda^3} + a_2 \frac{\sin(\lambda\pi)}{\lambda^3} + o\left(\frac{e^{\tau\pi}}{\lambda^3}\right).$$
(16)

Define

$$\varphi_0(\lambda) = \frac{\sin(\lambda \pi)}{\lambda}\,,$$

and denote by $\lambda_n^0, n \in \mathbb{Z} \setminus \{0\}$, zeros (simple) of the function $\varphi_0(\lambda)$, then

 $\lambda_n^0 = n$.

Let C_n be circles of radii r (r small enough) with the centers at the points n. For an integer n, let Γ_{N_0} be the counterclockwise square contours *ABCD* as in Figure 1 with

$$A = \left(N_0 + \frac{1}{2}\right)(1 - i), \ B = \left(N_0 + \frac{1}{2}\right)(1 + i),$$
$$C = \left(N_0 + \frac{1}{2}\right)(-1 + i), \ D = \left(N_0 + \frac{1}{2}\right)(-1 - i).$$

For N_0 large enough, on the contour Γ_{N_0} , for $t \in [0, \pi]$, there hold uniformly (see [12]: Lemma 3.1)

$$\left|\frac{\sin(\lambda t)}{\sin(\lambda \pi)}\right| \le 4 \text{ and } \left|\frac{\cos(\lambda t)}{\sin(\lambda \pi)}\right| \le 4.$$
 (17)

Combining (16) and arranging the terms on the right-hand side in decreasing order of powers of λ , we have

$$\begin{split} \frac{\varphi(\lambda)}{\varphi_0(\lambda)} &= 1 + \frac{a_1 - b_1 \cot(\lambda \pi)}{\lambda} + \frac{a_2 + b_2 \cot(\lambda \pi)}{\lambda^2} \\ &+ o\left(\frac{1}{\lambda^2}\right) \end{split}$$

on the contour Γ_{N_0} or C_n . Expanding $\log \frac{\varphi(\lambda)}{\varphi_0(\lambda)}$ by the Maclaurin formula, we find

$$\log \frac{\varphi(\lambda)}{\varphi_0(\lambda)} = \frac{a_1 - b_1 \cot(\lambda \pi)}{\lambda} + \frac{\left(a_2 - \frac{1}{2}a_1^2\right) + \left(b_2 + a_1b_1\right)\cot(\lambda \pi) - \frac{b_1^2}{2}\cot^2(\lambda \pi)}{\lambda^2} + o\left(\frac{1}{\lambda^2}\right)$$
(18)

on the contour Γ_{N_0} or C_n .

By the residue calculation [14], the following identities are true:

$$\frac{1}{2\pi i} \oint_{C_n} \frac{\cot(\lambda \pi)}{\lambda} d\lambda = \frac{1}{n\pi},$$

$$\frac{1}{2\pi i} \oint_{C_n} \frac{\cot(\lambda \pi)}{\lambda^2} d\lambda = \frac{1}{n^2 \pi},$$

$$\frac{1}{2\pi i} \oint_{C_n} \frac{\cot^2(\lambda \pi)}{\lambda^2} d\lambda = -\frac{2}{n^3 \pi^2}$$

Using the residue formula

$$\lambda_n - n = -rac{1}{2\pi\mathrm{i}} \oint_{C_n} \log rac{\varphi(\lambda)}{\varphi_0(\lambda)} \mathrm{d}\lambda$$

we obtain

$$\lambda_n = n + \frac{b_1}{n\pi} + \frac{-b_2 - a_1 b_1}{4n^2 \pi} + o\left(\frac{1}{n^2}\right), \quad (19)$$

where

$$b_1 = \frac{1}{2} \int_0^{\pi} [p^2(x) + q(x)] dx,$$

$$b_2 + a_1 b_1 = p'(\pi) - p'(0) - 2 \int_0^{\pi} p(x) [p^2(x) + q(x)] dx.$$

Thus, we have the asymptotic formula of the eigenvalues for (1) and (2) with $c_0 = 0$.

The asymptotic formula (19) implies that, for all sufficiently large N_0 , the numbers λ_n which are the zeros of the function $\varphi(\lambda)$, with $|n| \le N_0$, are inside Γ_{N_0} and the number λ_n , with $|n| > N_0$, are outside Γ_{N_0} . Obviously, λ_n^0 , which are the zeros of the function $\varphi_0(\lambda)$, don't lie on the contour Γ_{N_0} .

C. F. Yang · Identities for Eigenvalues of the Schrödinger Operators

By residue theorem, we obtain that

$$\begin{split} &\sum_{\Gamma_{N_0}} (\lambda_n^2 - n^2) \\ &= \sum_{n=1}^{N_0} \left(\lambda_n^2 + \lambda_{-n}^2 - 2n^2 \right) \\ &= \frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \lambda^2 \left[\frac{\varphi'(\lambda)}{\varphi(\lambda)} - \frac{\varphi'_0(\lambda)}{\varphi_0(\lambda)} \right] d\lambda \end{split}$$
(20)
$$&= \frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \lambda^2 d\log \frac{\varphi(\lambda)}{\varphi_0(\lambda)} \\ &= -\frac{1}{2\pi i} \oint_{\Gamma_{N_0}} 2\lambda \log \frac{\varphi(\lambda)}{\varphi_0(\lambda)} d\lambda . \end{split}$$

Using the well-known formulae

$$\cot z = \frac{1}{z} + 2z \sum_{n=1}^{\infty} \frac{1}{z^2 - n^2 \pi^2}, \ \csc^2 z = \sum_{n=-\infty}^{\infty} \frac{1}{(z + n\pi)^2},$$

we get

$$\begin{split} &\frac{1}{2\pi\mathrm{i}}\oint_{\Gamma_{N_0}}\cot(\lambda\pi)\,\mathrm{d}\lambda = \frac{2N_0+1}{\pi}\,,\\ &\frac{1}{2\pi\mathrm{i}}\oint_{\Gamma_{N_0}}\frac{\cot(\lambda\pi)}{\lambda}\,\mathrm{d}\lambda = 0\,,\\ &\frac{1}{2\pi\mathrm{i}}\oint_{\Gamma_{N_0}}\frac{\cot^2(\lambda\pi)}{\lambda}\,\mathrm{d}\lambda = -1 + O\left(\frac{1}{N_0}\right)\,. \end{split}$$

From (18), by calculating residues, we have

$$\begin{aligned} &-\frac{1}{2\pi i} \oint_{\Gamma_{N_0}} 2\lambda \log \frac{\varphi(\lambda)}{\varphi_0(\lambda)} d\lambda \\ &= -\frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \left[2(a_1 - b_1 \cot(\lambda \pi)) \right. \\ &\left. + \frac{(2a_2 - a_1^2) + 2(b_2 + a_1b_1)\cot(\lambda \pi) - b_1^2\cot^2(\lambda \pi)}{\lambda} \right] d\lambda \\ &+ o(1) \end{aligned}$$

$$= 2b_1 \frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \cot(\lambda \pi) d\lambda + a_1^2 - 2a_2 - 2(b_2 + a_1b_1)$$

$$\cdot \frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \frac{\cot(\lambda \pi)}{\lambda} d\lambda + b_1^2 \frac{1}{2\pi i} \oint_{\Gamma_{N_0}} \frac{\cot^2(\lambda \pi)}{\lambda} d\lambda + o(1)$$

$$= 2b_1 \frac{2N_0 + 1}{\pi} + a_1^2 - 2a_2 - b_1^2 + o(1).$$

From (20), we get

$$\sum_{n=1}^{N_0} \left(\lambda_n^2 + \lambda_{-n}^2 - 2n^2 \right) = 2b_1 \frac{2N_0 + 1}{\pi}$$

$$+ a_1^2 - 2a_2 - b_1^2 + o(1).$$
(21)

Passing to the limit as $N_0 \rightarrow \infty$ in (21), we find that

$$\sum_{n=1}^{\infty} \left(\lambda_n^2 + \lambda_{-n}^2 - 2n^2 - \frac{4b_1}{\pi} \right) = \frac{2b_1}{\pi} + a_1^2 - 2a_2 - b_1^2.$$
(22)

From Lemma 3.1 and Corollary 3.2, a direct computation yields

$$a_1^2 - 2a_2 - b_1^2 = -p^2(\pi) - p^2(0) - \frac{q(0) + q(\pi)}{2}.$$
(23)

Substituting (23) into (22), we see that the regularized trace s_1 with $c_0 = 0$ has the following form:

$$\sum_{n=1}^{\infty} \left(\lambda_n^2 + \lambda_{-n}^2 - 2n^2 - \frac{4b_1}{\pi} \right) = \frac{2b_1}{\pi} - p^2(\pi) - p^2(0) - \frac{q(0) + q(\pi)}{2}.$$
(24)

Now we consider the case $c_0 \neq 0$. By a direct calculation, we note that the equation

$$-u''(x) + [q(x) + 2\lambda p(x)]u(x) = \lambda^2 u(x)$$

is equivalent to

$$-u''(x) + [q(x) + 2pc_0 - c_0^2 + 2(\lambda - c_0)(p(x) - c_0)]$$

$$\cdot u(x) = (\lambda - c_0)^2 u(x).$$

Let

$$\widehat{\lambda}_n = \lambda_n - c_0, \ \widehat{q}(x) = q(x) + 2pc_0 - c_0^2$$

and

$$\widehat{p}(x) = p(x) - c_0 = p(x) - \frac{1}{\pi} \int_0^{\pi} p(x) \, \mathrm{d}x$$

then in this case we have $\int_0^{\pi} \widehat{p}(x) dx = 0$ and

$$\widehat{b}_1 = \frac{1}{2} \int_0^{\pi} [\widehat{q}(x) + \widehat{p}^2(x)] \,\mathrm{d}x = b_1.$$

Substituting the expressions for $\hat{q}(x)$, $\hat{p}(x)$, and $\hat{\lambda}_n$ into (19), we find that the eigenvalues λ_n satisfy the following asymptotic formula as $|n| \to \infty$:

703

C. F. Yang · Identities for Eigenvalues of the Schrödinger Operators

$$\lambda_n = n + c_0 + \frac{b_1}{n\pi} + \frac{\beta}{4n^2\pi} + o\left(\frac{1}{n^2}\right),$$

where

$$c_{0} = \frac{1}{\pi} \int_{0}^{\pi} p(x) dx,$$

$$b_{1} = \frac{1}{2} \int_{0}^{\pi} [p^{2}(x) + q(x)] dx,$$

$$\beta = p'(0) - p'(\pi) + 2 \int_{0}^{\pi} [p(x) - c_{0}] [p^{2}(x) + q(x)] dx$$

- [1] M. Jaulent and C. Jean, Commun. Math. Phys. 28, 177 (1972).
- [2] E. E. Adiguzelov, O. Baykal, and A. Bayramov, Int. J. Diff. Eqs. Appl. 2, 317 (2001).
- [3] M. Bayramoglu and H. Sahinturk, Appl. Math. Comput. 186, 1591 (2007).
- [4] R. Carlson, J. Diff. Eqs. 167, 211 (2000).
- [5] L. A. Dikii, Uspekhi Mat. Nauk [Russian Math. Surveys] 8(2), 119 (1953).
- [6] I. M. Gelfand and B. M. Levitan, Dokl. Akad. Nauk SSSR [Soviet Math. Dokl.] 88(4), 593 (1953).
- [7] F. Gesztesy and H. Holden, On Trace Formulas for Schrödinger-type Operators, in: Multiparticle Quantum Scattering with Applications to Nuclear, Atomic and Molecular Physics, D. G. Truhlar and B. Simon (eds.), Springer, New York 1997, pp. 121–145.

Substituting the expressions for $\hat{q}(x)$, $\hat{p}(x)$, and λ_n into (24), we prove that (13) holds. The proof of theorem is finished.

Acknowledgements

The author acknowledges helpful comments from the referees. This work was supported by the Natural Science Foundation of Jiangsu Province of China (SBK 201022507), the Outstanding Plan-Zijin Star Foundation of Nanjing University of Science and Technology (AB 41366), and the National Natural Science Foundation of China (11171152/A010602).

- [8] N. J. Guliyev, Proc. Inst. Math. Natc. Acad. Sci. Azerb. 22, 99 (2005).
- [9] P. D. Lax, Commun. Pure Appl. Math. 47(4), 503 (1994).
- [10] V. G. Papanicolaou, SIAM J. Math. Anal. 26(1), 218 (1995).
- [11] V. A. Sadovnichii and V. E. Podol'skii, 45(4), 477 (2009).
- [12] C. F. Yang, J. Math. Phys. 51, 033506 (2010).
- [13] C. F. Yang, Z. Y. Huang, and Y. P. Wang, J. Phys. A: Math. Theor. 43, 415207 (2010).
- [14] L. Ahlfors, Complex Analysis, McGraw-Hill, New York 1966.